Hath Yord Problems

Solve the following addition problem and
show your work.

a

Trushil has 6 pairs of socks in the
cupboard. Another 8 pairs of socks in
the laundry. How many pair of socks

are there altogether?

Do your work here

There are pairs of socks
altogether.




Hath Yord Problems

Solve the following addition problem and
show your work.

fa

Trushil has 6 pairs of socks in the
cupboard. Another 8 pairs of socks in
the laundry. How many pair of socks

are there altogether?

Do your work here

There are 14 pairs of socks
altogether.




